TAs Grading Guide (Midterm 2)
Question 1

You have to give a correct real life example in order to get full credits

Consider the market for wheat.  For each of the following cases give an example of some real world event that could lead to the outcome.  Where indicated make the asked for prediction.  Explain your reasoning:

A.  The quantity demanded of wheat increases.   The price will? 

Any example that increases the supply of wheat while not shifting the demand curve.  

Examples, exports of wheat are prohibited, the cost of wheat seed or fertilizer falls. (2 points)

The price has fallen. (2 points)

B.  The demand for wheat increases.   The price will ?

Any appropriate change in a parameter of the demand for wheat.  

Examples, corn is taxed, peanut butter prices fall. (2 points)

The price will rise. (2 points)

C.  The demand for wheat increases and the price decreases.  The quantity consumed will?

We need an event that will increase both the demand for wheat and the supply of wheat (where the increase in supply exceeds that of demand.) 

Many people just talk about the demand side but ignoring the supply side, if that’s the case, only partial credits will be given.

An example could be - farmers are given subsidies to grow wheat (increasing their income and their demand.)  (2 points)

The quantity consumed will rise. (2 points)

D.  The price of wheat decreases and there is no change in the quantity sold. 

Demand must have decreased and supply increased.  

Lowering the price of something that is a substitute on the demand side while an opportunity costs on the supply would do this.  

An example, the price of corn falls.  (4 points)

You must give an example which matches “Demand must have decreased and supply increased.” 

Same with C, many people just consider the demand side, you have to consider the supply side.

If you assume the supply is perfectly inelastic, that will also work. 
E.  The supply of wheat increases. The price will?

The price of an input decreases or any factor that makes the marginal cost fall. 

(2 points) 

Price is of course expected to fall as the supply increases (2 points)

F.  The price of wheat decreased and the Smith family bought less wheat.

Something happened that both lowered their demand and the price. 

Consider the demand for wheat falling because wheat is found to cause cancer.  Or what if Smith’s are wheat farmers in Washington and the wheat crop in the Great Plains was bountiful? (4 points)

Question 2

A. If you correctly mentioned either of (i) the second law of supply (ii) producers have more time for response to the price change in the long run, then you got full points. Otherwise you will lose some points depending on your explanations. Some people answered applying the second law of demand but here it is producers who respond to the price change.

B. If you correctly explained the condition for everyone to have comparative advantage. For example, when they have different opportunity costs or marginal costs, everyone can have comparative advantage. Just saying like “when people are different…” is not enough. You should mention in which aspect people must be different. Also statements such as “people can specialize thus they can have comparative advantage…” are wrong. People specialize BECAUSE they have comparative advantage. 

C. An answer without an explanation about roundabout production will get only half points. If your diagrams for marginal costs and average cost are correct you get some points for that.

D. If you explain the meaning of “hedging” or “hedging of risk” correctly you get full point. “Hedging of risk” typically means eliminating uncertainty in the future. Also if your example is correct one, then you get full points. 

Question 3

3. A: correct answer with explanations: 6

     Correct answer with wrong explanations or only answer who: 4

     Wrong answer with some explanations:1~2

     Wrong answer:0

B: perfect answer:6 (specialization, trade, final output (total and individual)

 Correct answer but  

 1) doesn’t show (or calculate) individual final output after specialization: 5

 2) doesn’t show (or calculate) total final output after specialization: 4

 3) misses why they specialize and trade and when: 3

 4 )misses who has a comparative advantage for what: !~2

 5) Irrelevant answer:0

C: part a) marginal value

 Correct answer with explanations (Q: increase after specialization and trade, MV: decrease)  : 3

 Correct answer with wrong explanations 1~2

 Correct answer with no explanations:1

 Irrelevant answer: )0~1 

Part b) working hours

 Correct answer with explanations (high opportunity cost….): 3

 Correct answer but with wrong explanations 1~2

Correct answer with no explanations:1

 Irrelevant answer: 0~1

D: correct answer with perfect explanations (George’s comparative advantage, specialization, price of food, worse off):6

Answers going wrong with price of food and (or) Mary’s benefit: 3~5

Answers going wrong with comparative advantage and specialization: 1~2

Irrelevant answer:0~1

Question 4

A. (Total 6 points) : 

             • You have to mention that the answer is False (1 or 2 points)

             • Explain your reasoning by mentioning the role of middleman and the reason why middleman is productive (e.g. linking the consumers to the producers, lowering the trading cost, and so forth) (4 or 5 points)

B. (Total 6 pts) : 

             • You have to mention that the answer is True (1 or 2 pts)

             • Explain your reasoning about the relationship between specialization and trade, and the result (e.g. absent trade – a set of good that are LESS PREFERRED and so forth) (4 or 5 points) 

C. (Total 6 pts) : 

             • You have to mention that the answer is True (1 or 2 pts)

             • All face the same price (given) since it is price taking industry (2 points)

             • They will continue to expand sales until the MC equals the price (2 points)

             • They will end up with the same marginal cost (1 point)

D. (Total 6 pts) : 

             • You have to mention that the answer is False (1 or 2 pts)

             • You have to tell the price of money is not the interest rate (1 point)

             • Explanation about the price of money (2 points)

             • Explanation about the interest rate (2 points)

Question 5

A. (Total 12 points) Each question receives 4 points 

(i) 
3 points : Price will increase because the tax shift up marginal cost per unit.

+1 : The new equilibrium price will be between $2.00 and $2.10.

-1 : Price will be exactly $2.10.

(2)
2 points : There should be less additional revenue (or greater proportional decrease) per drier in Vancouver than in Seattle.

+1 : The demand for gasoline in Vancouver is expected to be more elastic than in Seattle.

-2 : The revenue will decrease in Vancouver.

(3)
4 points : The elasticities of demand and supply will increase in the long run. So we can not say the direction of price change.

-2 : The elasticity of demand will increase in the long run. The price will gradually decrease.

-2 : The elasticity of supply will increase in the long run. The price will gradually increase.

B. (Total 12 points) Each question receives 6 points 

(i) 
3 points : Both stocks are expected to lose value

+3 : Stock price is the present value of future dividends discounted with the interest rate.

-1 : One of the stock prices is expected to increase.

(ii) 3 points : Eko stock price is expected to show a greater percentage change in value.

+3 : Since the heater is a kind of investment good, its value will be more affected by the interest rate change. So the revenue of Eko will be more sensitive to interest rate.

